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QUESTION 1

Which of the following is installed and operated with no modifications by the purchaser? 

A. COTS 

B. GOTS 

C. MOTS 

D. PBC 

Correct Answer: A 

 

QUESTION 2

Which is NOT a characteristic of Control Charts? 

A. A Fin 

B. A Centerline 

C. Upper and Lower Boundaries 

D. Performance over time 

Correct Answer: A 

 

QUESTION 3

Cycle Time Management focuses on: 

A. Organization\\'s Growth and Profitability 

B. Entails Not Only Downsizing, but Upsizing 

C. Processes and Process Improvement 

D. Keeps Work Moving at a Constant Pace 

Correct Answer: C 

 

QUESTION 4

-- Exhibit -
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-- Exhibit -The diagram is of the ___________ Development Model. 

A. Waterfall 

B. Iterative 

C. Exploratory 

D. Spiral 

E. None of the above 

Correct Answer: D 

 

QUESTION 5

-- Exhibit -

-- Exhibit -With regards to Entity Relationship Diagrams, the diagram is a: 

A. One to one 

B. One to zero or one 

C. One to many 

D. One to zero or many 

Correct Answer: C 
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